Doc. no. J*-OMNQQ055

<

|
|
|
|
|
|
|
|
|
|
|
|
|

-
-

)
=
.
-

.

.

-
-
-
-

-

=
.
i
v
-
-

-
-
.

.

-

| .

-
.
-

-

-
-

.
-

.
.

=

.
e
S

.

-

-

-
-
-
-
-
-
-
-
-

.

o
.

-

.

-

=

-
-

.

.
-

-

-
-

b

-
=

-

-
-
-
-
-
-
-
-
-

-

-
-
-

*.
.
.
.
.

.
.
.
.
S

S

.

o

.
-

-

.
-

-
S
...

.
.
-

-

P
P
P

-
.

-
-

.

-

.

.

.

.

.

-
-

-

-

-

-

.
-

-

-

-

-

-

-

-

-

-

-
-
-
-

s
-
-

-
-
-
-
-
-
-
-
-

-
|
P
|
P
|
P
|
P
|
P
|
P
|
P
|
P
|
P
|
P
P
|
P

P

.

|
P

.

|
P
|
P
|
P
|
P
|
P

LB A4 T

ERE P

Eil/ &0

JS ZR7%

SMC Corporation



1. 2 WS 2
2. M 5
3. Mk 0
4. BRFTHE 5
5. ¥ 6
6. T 7

7. WEE 8




RS
2 L RER M

KRR RPN, 188 T B AR, DA X R R fth A B . AR S TE
MR, WAGEEFI R [EE], &S] N (k] =firE. Nemdicd, #2
B M EE N, BT OO0 E A (1S0/TEC) « HAR TALANKE (JTS) 3 1) LA Hofh 2 4
B2 LIAh, IXEepy 2840 & BEE ST

%1) ISO 4414: Pneumatic fluid power — General rules relating to systems
ISO 4413: Hydraulic fluid power —— General rules relating to systems
IEC 60204-1: Safety of machinery —— Electrical equipment of machines (Part 1: General requirements)
ISO 10218-1992: Manipulating industrial robots —— Safety
JIS B 8370: = EALEN
JIS B 8361: hERZEN
JIS B 9960-1: HUMEM 22N S5 E G5 18 —REkE
JIS B 8433-1993: BEIZTALHL A8 A- 2%
*2) FHEEETEE F

VERE  msefen, THSERA BRI

=
AL R, OTRERER RIS L

>

GRS warERk AT, ARER AR R EOTE L

(1) W ARG BCH A B E RS I SR AN Moo F ISR 5 5 1

AT AT 2R 2R, DL RV B E RS N B, AR 0 B R AR R 23 A AL 56 5

RPGEFTE TR BE R Z RS,

U5 2 R AT B L RE TR 2 2 R PUE RAE A TER AR ST

T OB i FE AR BERL, RS A AR, RS IR RITTA T R DL TS Ol f&

KM% R .

(2) VA L RN Z K N BET R4

A7 — AR IR RARE IR 1. RSB & BT BPRYey S5 IN, N i 288 kiR e

BN AT

() FEFIN LT, AT I3 s HoofHra.

L FE RS R YEIE 2 BT, 2R AR RS AR ST 19 TR b s RSB IR A B

2. EFIA BT T EIR 2 24P, DIWhZ s & R I, MR AL R e, SRUFHER
TR B 5 A RE N sh i B shooft.

3 HHIA S S R RSN, AR AR Z AR AE S, AT AR XY .

(4) WARTE T PR TN, e R X RN RN 5 A QA S B R.

L. IR B LAAMR S A RNERIEE . R A0 K B B A

2. TRy ae. Bk, i, FaPLEs. MEAH. 2. R BT astil. &0 RUCRHES . Mike
PE. RSN BEUIEIRIE . KN E G4 LB REE . 2e KLU AS bR LR
LA

3. X NS A= A ARKE M, R AR AR & 47 AT 2RI & ME .

4. T HBRIE R, I BE N R USRI LRE, HEAT 2 EE B ST ERIR A L
BA R A IR 34T .




K
2
h_
=
B
=
.
5

A i {5 it 1T ) AR IR

X HLPTIR AR 24 w7 o DA R R 3, AP IR A

W R B TR AN TR, IS AR AR, R EEI . A E.
MRAH AANE RIS, S BRIERVENL TR .

PRAUE A R e T3/ & A g R 44

e, AL TORIECA R S sr i) TEEAER&IE] .
THTERGIA . SCVFRU N AR b, EATA AR

[ ORAIE BA R e 5 00 )

(DAL E S GRIEEDY, WAERITG 1A, B8 WBATTE 1 RN,
AN RATBOE AR EL, AT R, EHREAS, WS RO E A .

@) GRUEBIR N T AR RS, 74 B SRR DL B, AR 28 ) S {14 gk i B AT 44
BRI e

FESEPTIR IARAE, RIERA R B EABFROIE, AL TR, BT R
e

(3) i 22 oAt ™ W AU K ORUE S S BT I, AR B K 256t EDEATAE AT

[&& MK &)

H VAN, TR A S kA RIUE TR (OMENC SR ANE S 535) - T4k,




Brvh E v =

|

N o

(D iEFIA .
A7 O BEATIRIB S AL, BT B &dash it A SRR B E L. Y
AR B Rk, ANBEM T Rl e sl sl fshizs).

(2) TSR .
A EAE RS VE RSN . R EE RS, WS 0 i B B .

(3) B E LML, A TAHE BN R A phi
TR AR LR, BB A o U, TR BB UL e B B 82 i s 5 G2 L
.

2 |

/N
(1) W42 )
R B RS AT A R
() FEREIRBIIIE e, FFAESNEEE, MR IEEHNG T 25
KIIZEAZ RO, DB A A EMRR: b 45T sh ek A BB AT, TR, {8
HRIEEH G T T 203
(D IFEIT, AT AL E
FH T BB A B SR AR LI, TR A B RE, (0 P AF B BUR T RO AT SR
BERE, A . R TR A SO, S BT R kR
o, BT ORIEEHAT, W RS R RE AR SE, R A S B R A
FRE LTI SRRSO TR
() VAR BR ShAT Y
ELRIEAR e S E LSRR, RS S RS R, AAVORIK. Bb. BTR
S ¥ U T B 2 R 3 M OB R, LA B B R B ATV
(5) MATHEE . VOB RS Mk, B8, BB, (I, Rrsefiilit, i ELA fll A Ak s
i
MRE T e, . KRG
(6) VAR BT S AT /MR 5 o
WTREL SRR, N TS R, 5 AN AR,
(1) VAR TR R S R A



A H EAEE

/A v
(D) AN EAE FEG R R A TR PP A AREE 2t K. ZKZR A
) AN EAER R IRE Brh o R A .
(DFEHIERUNIITELL T, W BEE %,

() 12 J BAAERIRITE DL T 35 DA o

(5) 75 B 75 it vy REIB SR DK PR S5 R AR T IR S SR REDCA I P O 5 o

Ll AR

N
(1) Bt KPR ET L & 48 S HE R
PRENBCR T, A ORI T P 1B K PR b 18 LU B BB TG s, FE DI I O e
U AT BRI JF T LREIR 25 RG89 48 5 UG FRZEAT IR
PR T v s PR BIN, RN ORI T B b AT oot Rl idb s, Fites 2 3T It
B, JFRIA SR 2 EH AR,
(2) WIRAL AT, AR 2T R A o VST W SN ER B AT B2 05 LA S B SRS A R L o kA B
.
BEATRLEL I, TR RA COREK T B AT 7o & A8 LU A i PR ARl 2 S 48 Mt

(3) by 1e] AT BH B 34K WRAL VA IE A Bl I T AN EAE T

TSN B & T B2 0 B B

(4) WA ZEXE AT 73 BRI OE

N TR, R AR IREUR L A B T R SRR TR AT AR, IR EVE A
SRAT 7 R R I R TCVE IEH AR S, BT RE T EUZ A .



2. Hi&
AT b ST BRI ) A0l 2 T 1] B S LA P i R L A ik Bl Rl A 4k
FH R 25 S LA SR A4
(D) 5RELHIEREN BB S, F5iE .
(2) N HEL O  —BUORERE, ATREE M TR,
() DX UL s A GBI T, Fait k. FRZ0H
Tk, k.
(D APILE, HFik.
(2) RN, BRIl = AR « R 4507,

SRIX LR A
3. Ak
. H i HA 1 R
{(mm ,‘_ g‘ XZ:i[:v:u_ H i Lmm
10 M4x0. 7 80 0.5
S G 10, 16 M5x0. 8 210 0.5
8-12 20 M8x1. 25 1100 0.5 1MPa 3. bMPa
25, 32 M10x1. 25 2500 0.5 LA LA
40 M14x1.5 6000 0.75
S63 18 15(C 50, 63 M18x1. 5 11000 1

VE 1) & AR RS N MR FAR P BE TSR A B VR FOREAS R OG- TSR 2R I BB
E 2) WAL ) O 3. oMPa I, IE RSN o 4m LA AR
T 3) A R -5~70 L.

4. BAERRTTE
JsB2 —10—125

Bi 2 BB
BT 5
i fat N
TR
& LA (nm) ¢ IG5
& A (o) wy ﬁé%ﬂ
BE S
10 4070 M4x0. 7
10, 16 5080 M5x0. 8
20 _8i» M8x1. 25
25, 32 10125 M10x1. 25
40 14150 Ml4x1. 5
50, 63 18150 MI8X1. 5




5. faig

JS10, 16

FI% ik

AN

AN

AN

AN

TSI/ TR IL

AN

JS20~63

45t ik

AR (BREUED) /EN K TG F AR AR

AN

BN TG AR AR

Bk 2 TG F AR AR

IR/ TERR IR
Bk 2
AN




<HxE U >
(1) BRAE (1) AN 1% ZE AT MR EUE LN
(2) #RE (2) (DA (1) —RA S BRI MEEOEER .
(3) Mo FELEIREE (1) L OREFIA () 441K, BTUARENS 72 M3k BT [ A -PAT T 30
(4) FrifERmgEsl, JSEFRIBAE (1) BRI RES7E CREFI (3) AT [RlE
(B) XTSI o), FaH O P25 (5) MUERAT (1) s B,

<A B>
PRk
A ELVE ZEFT
™\
[ - B
W= )
o R .,
ESEAREN
6. ST
Bi< B8
B 2 BB A R B S AL RHE AR IR T 0 Y 5 3R T 5 e
B BT =
BRI IR
P21530511 P21530512
P21530521 P21530522
P2153151 P2153152
P2153251 P2153252
P2153351 P2153352
P2153451 P2153452

Fsg
IS 7 Bl — TR, A7 MG I 5% F e p AT B H
1) JS40 FR %



LIV RRPN
Js1o0, 16

M

=

:i_

]

:;r )

T

OF

TL

el
)

JS20~63

_____

ol
a4

v

2

\
)

>§
:/%

s,

)
7

g Ny

YA
y B
T
)]
= i
A
1[_}
i 15
e
i St
EI»&’
iy

JS10-4-070 | M4x0.7 26 8.5 9.5 12 1.5 4 4 7 14. 4
JS16-5-080 | M5x0. 8 34.5 12 13.5 16 2 6 5 10 19
JS20-8-125 | M8x1.25 | 43.9 | 15.5 - 21 4.5 7 7 13 24. 8
JS32-10-125 | M10x1.2 | 49.5 | 17.5 24 5 8 8 17 29
JS40-14-150 | M14x1.5 60 18.5 - 31 5 11 11 22 38. 4
JS63-18-150 | M18x1.5 | 74.5 23 - 41 7 14 13.5 27 49. 2
JS10-4-070 17 4.7 0.5 80

JS16-5-080 23 5.8 0.5 210

JS20-8-125 | 29.9 7.3 0.5 1100

JS32-10-125 | 33.5 8.5 0.5 2500

JS40-14-150 38 11.6 0.75 6000

JS63-18-150 | 47.5 14. 3 1 11000




(mm)

) 2| 7|81

JS10 FHiBE M4x0. 7 3 6.8
JS16 bk M5x0. 8 4 81 92|78
JS20 bR M8x1. 25 5 13 15 |12.5
JS32 Bk M10x1. 2 6 171 19.6 | 16.5
JS40 iR M14x1.5 8 22 1 25.4| 21
JS63 Bk M18x1.5 11 127(31.2| 26




SMC Corporation

4-14-1, Sotokanda, Chiyoda-ku, Tokyo 101-0021 JAPAN
Tel: + 81 3 5207 8249 Fax: +81 3 5298 5362

URL http://www.smcworld.com

Note: Specifications are subject to change without prior notice and any obligation on the part of the manufacturer.

ER) MANEATHRAAS AT, 55

© 2009 SMC Corporation All Rights Reserved

10



